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4th Semester Examination

CHEMISTRY (Honours)

Paper: C 8-T

(Physical Chemistry - IID

tcBCSl

Full Marks:40 Time : Two Hours

The./igures in the margin indicate.full marla.

Candidates are required to give lheir answers

in lheir own wrtrds as Jar us practicable.

Group - A

Answer any Jive questions :

l. When vapour pressure of solution becomes greater than

vapour pressue of pure solvent?

2. In case of water molecule, the O-H bond moment is

l.5l.D and dipole moment is 1.85 D. Calculate HaH
bond angle.

3. Four phases of sulphur can't coexist. - Explain.

4. Antimony electrode can only be used within pH range

5. Write the trial wave function fbr Hr* ion.
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ffi (4)
(d) A solution consists of 0.05 molal of MgSQ, 0.01

molal of l/C7, and 0.02 molal of glucose. Calculate

the ionic strength of the solution.

16. (a) The radial wave function of 2p orbital of a

hydrogen atom is given by

whereNisaconstant.

(i) Determine the number and location of node(s)

n2p wave function

(iD Writ€ down the expression of radial distribution
function of the function of the 2p elechon and

sketch the radial distribution curye. 4

(b) Draw and explain equal-probability contour diagram

with respect to 2s orbital? 1

(c) Show that the operators 3x2 and

commute with each other.

(d) Considering H, as an example, draw and

comparison between valance bond and Molecular
ortial model.
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